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. 18 an asy
et that a lender accepts as security for a loan.

) Deposi (
(a eposit by Collateral
(¢c) Credit (d) Guarantee
95 anug i8 the interest rate charged by RBI for borrowed funds.
\),y" Repo rate (b) EMI
(c) Bank rate (d) Reverse repo rate

3. The informal source of credit does not include which one of the following ?

(a) Traders (b) Friends
\(E)/eo{nﬁvc Societies (d) Moneylenders

S8F JAMIA MILLIA ISLAMIA
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4. Banks use the major portion of the deposits to :
(a) Keep as reserve so that people may withdraw

(b) Meect their routine expenses

Wam

(d) Meet renovation of bank

5. In which of the following systems exchange of goods is done without use of money?

(a) Credit system \b)_Jartet system

(c) Banking system (d) Collateral system
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6. Which of the following is an example of horizontal sharing of power?

(0) Power sharing between different states.
. ¥} Power sharing between different organs of the government.
(€} Power sharing between different levels of the government.

(d)  Power sharing between different political parties.

7. Why is democracy considered as the better from of government than dictatorship?
(a) ~Promotes cquality and enhances dignity of the individual
|
(b) Never allows room to correct mistakes.

(€)  Majority community rule.

(d) Provides methods to resolve conflicts.
SSF JAMIA MILLIA ISLAMIA
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8. Which of the following is not true about democracy?
(a) Italways worries about majorities and public opinion.
(b) Itimproves the quality of decision making.
\)()/Dccision making is faster and quicker.
\(d) It allows a room to correct mistakes.

9. Which of these is not a function of the constitution?
(a) It gives a guarantee of the rights of the citizen

(b) It marks out different spheres of power for different branches of government

\M ensures that good people come to power.

(d) It gives expression to some shared values.
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1 1 he idea of our Preamble 15 borrowed from the
(a) Canada constitution () UK constitution

» (() US‘ constitution ‘d’ French consthitution

g1, Progressive taxation to uplift the poor 1s propounded by

() Karl Marx \))...1‘,..]. g scha

(¢) John Rawls (d) Plato

12. What ia the name of the aristotle’s book?

(2) The Citizenship M Society

;(’;) “The Politics (d) The Greek

13. John Stuart Mill wasa ...
(a) German economist

(b) Greek philosopher SSF JAMIA MILLIA ISLAMIA
A L '

(¢) Roman theorist

ntish philosopher & political economist

14. Soviet union was collapsed in the year :

(a) 1981 B T991

(c) 1999 (d) 2001

15.  Which is the apex body of the banking system in our country?

(a) IMF (b) State Bank of India
(c) Ministry of Finance fkme Bank of India
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16 I'he primary function of money s that
\ Tt acts as a medium of exchange
(D) 1t acts as o property
(¢) 1t acts as bank balance

() Bridges the gap between present and future
S8F JAMIA MILLIA ISLAMIA
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17. Purchase of a cycle by a houschold is treated as
(a)  Capital formation (b) Production by houschold

(&) ‘(‘umumpuun (d) Production for self-consumption

I8 National income can be increased by
(@) Increase in population
(bY  Increase in the rate of investment
(¢) Increase inpunemployment

(d)  Decrease in price level

19, Which of the following i1s not the feature of Indian Economy?
(@) teavy population pressure

(M) Planned cconomy

() High per capita income

() Poverty and inequality in income distnbution

20. Individual Income 1s an example of ... . economics while National Income 1s an

example of

‘\m) Micro’'Macro (b) Macro™icro

(¢} Demand Supply (d) SupplyDemand

w
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I‘ l“ llldll co-exist \Vllh puhl.t seLien an il i ooy

(8) PnYm Sector/Capitalism (h)  Mixed Socialism
“} PﬂVllt Se “"',Milc‘l ‘l“ Mrivete Sectin t rvnend
\
22. About ol Indian population is engaged in agriculture
) 20 ~
(a . L i
(c) -83% (d) 70%

SSF JAMIA MILLIA ISLAMIA

23.  Which type of farming includes farming for own consumption?

L)ﬂ'/ Subsistence (b) Commercial
(¢) Intensive (d) Mined
24.  White revolution is known for increased . . production.
(a) Cotton (b) Rice

(c) Sugar &/Mllk

28. Cotton is associated with ... soil.
(a) Alluvial \yﬂhck
(¢) Red (d) Sandy

26. Commercial crops are grown for what purpose ?

_9. Own consumption Mo

(c) Cattle feed (d) Plantation

S-12 / SET-B 1 7))



27. Which is the most domunant natural vegetation found in India

(b) Tidal Forest

(2) Evergreen Forest
(¢} Thom Forest (d)~Deciduous Forest
|
28. India has a nch brodiversity becausc of its .
(a) Geology y/ G.cogr.ph.lcal locatnon
(¢) Physiography (d) Chmate

SSF JAMIA MILLIA ISLAMIA
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29. When did the first World War start ?
ta) 1910 by 1912

(c) (d) 1916

30.  Who was declared the Emperor of India after the outbreak of the revolt of 18577

(2) Kunwar Singh J‘b)/Ba'hadur Shah
(¢) Nana Sahib (d) Khan Bahadur Khan
31 Which article of the constitution guarantees non discrimination on the basis of relignon,

race, caste. sex. place or birth or any of them”

(a) 12 (by 14
\1946 (d) 18

32 The first passenger railway line and the telegraphic line was started 1n

(a) 1850 (b) 1851

(c) 1882 ylsss

S-12 / SETB [ 8 ]



33.  The Britishers established their first factory at.

o
(a) Surltl/

_(b) Bombay
(c) Kolkata (d) Delhi
. 1A MILLIA ISLAMIA
34. The UN day is celebrated on phsd lAM Delk
(a) 24th April (b) 24th May
M October (d) 24th November

35.  Which country withdraw from the first World War during the course of war?

(a) Germany (b) Italy
&)~ Russia (d) United States

36. Egyptian Kings were called as :

W Emperors (b) Badshah

Mnohs y Sultan

37. Mesopotamia lay between which two rivers?
_{a¥" Tigris and Euphrates (b) Nile and Hugli

(¢) Nile and Tigris -~ (d) Euphrates and Nile

38. Who was the founder of the Gupta dynasty?
(a) Chandragupta (b) Bhimagupta

(c) Vishnugupta \9}’ Shri Gupta

S-12/ SET8B 1 9]



319,

40,

41.

42.

43.
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When you are asked to study about ruined buildings, monuments etc, which branch of
Social Science is being mnvolved ?
”
(a) Political Science Jb)/ Archeology
(¢) Geography (d) Economics
Famous Bhimbetka caves are in which state?
(a) UP (b) West Bengal
() Assam g(d)/Mm!hya Pradesh
If a is any real number, the number of roots of tan 0 — cot 8 = a, in the first quadrant is (arc)
(a) 2 M
c) 0
. SSF JAMIA MILLIA ISLAMIA [l
. " l
If two dice are thrown in the air, the probability of getting sum as 3 will be .........
_Lay 218 (b) 3/I8
(c /18 (d) 1/36
The number of subsets of asetA= {-1,0,3,7, 13} 1s:
(a) 12 by S
(c) 16 \M
LetP=(1,3,59andQ~(1,3,4,5,9,11), thenPis :
(a) Complement of Q (b) Superset of Q
(c)»” Subset of Q (d) Q- (4}
.
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45, I he value of tngonometr;c ratios of an angle always depends on ...

. n le of tri
Y gt inungle (b) base of triangle

; i .
(c) height of triangle (d) none of the above

46. If the radius of cylinder is double, then its volume become .........

(a) 16 times W )

(c) 4times (d) 8 times

47.  The base radii of two right circular cylinders of the same height are in the ratio 3:5. Find
the ratio of their volumes.

(a) 27:125 (b) 55
(c) 259 (d) 125:27
e SSF JAMIA MILLIA ISLAMIA
48. The probability of event equal to zero is called : . oLl
(a) Unsure cvent (b) Sure Event

Wiblc event (d) Independent event

49. The arca of a rectangular field is 3630 sq. m and its sides are in the ratio 6:5. The perimeter

of the field is s td : 3621 :
(a) 484 m - . @) 382Im .
’ S 24~ ’(,
Yg-,) 242 m ' (d) 363m D
B X
2 (~e ) P
—

50.  Find the coordinates of the mid point of the line segment AB, given A(1, 2) and B(7, 2).

(@) (4,1) Vw/ (4,2)

() (2,2) d (@)

S-12/ SET-B [ 11 )



S1. A mangle has vertices (0, 8), (0, 0) and (6, 0). Its penimeter is ...

(a) 12 (b) 10

(©) 14 \“15;/’54

§2.  To draw a perpendicular from a given point P on line XY, name the point where the
compass needlc shall be placed first. \

(a) XorY ‘l

() a point near the mid point of PX and PY.

_b) any convenient point along XY

53.  Number of tangents drawn from an external point to a circle is ...........

(a) 3 . (b) 1

M/ (d 0

54, The mean of fifteen different natural numbers is 13. The mmumum value for the second

largest of these numbers is .........
_{» 46 \9)’ 51
(c) 52 (d) 53

35 The least number that is divisible by all the numbers from 1 to 5 is ..........

(a) 70 \9)//&)

(c) 80 (d) 90

S-12/ SET-B { 12 )



" The penmeter of a Circle having radius < cm

s ogual ©
"' ‘Ow
(b) 3 )ld4cmn
“ MdAdcem
(d) 4D cm
\/

B e
g1 HCFof26and 91 is _,/>\
ol
1S /
() Ms .

C )
© 1 @ n er

S '}%’*C

s3. A work can be completed by 40 workers in 40 days. If S workers leave every 10 days. 0
how many days work will be completed?

1

qn '
® 33.66 ®) 5644 3 (1;\ =
P
(756,66 @ s466° )ﬂc’
\O
:}

59. Market price of a rain coat is Rs. 450. [f the shopkeeper sells it for Rs%bn‘ the discount
given to the customer is

N ®) 10% i

(c) 40% (d) 25%

SSF JAMIA MILLIA ISLAMIA
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60.  Mohit purchased a watch for Rs. 1620 and spent Rs. 180 on its repair. If he sold it for Rs.
1980, then his gain percent is

...........

(a) 198 (d) I8

[T @ 162

S-12/ SET-B ( 18 )
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62

6.

04.

65.

66.

\=

In o fran garden

fruit trees in the garden s

() 25% (h) 0%
(¢) 70% L!—(‘)/ 75%

0 0065 can be wnitten in percentage as
(a) 0065% (b) 0.65%
A~

() 65% (d) 65%

The sum of the lirst 10 terms of the AP 3,4,5,.06, ... 18

(a) 65 (b) 75

a
N

(c) 1o (d) 8BS

The mean of the data - 4, 10, 5,9, 1218 ¢

(a) & - (b) 10
()0 I £ @ 1S
- 4{ ("
I'he degree of a linear equation is ¢
MELR (b)y 0O
(c) 3 (d) 2

‘(ilobal Economic Prospects' 1s the flagship report of which institution?

(a) NITI Aayog (b) RBI
&> Waorld Bank (d) IMF

$-12 / SET-B [ 14 )
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Vvho 1s the winner of 202
67 e the 202} International Booker Prize?

(a) David Diop (b) Douglas Stuart

() Margaret Atwood (d) Bemnardine Lvaristo

68. Tasncem Aslam from Kerals haa received the Golden Visa in the exceptional student
category, to which country?

L@ USA MAB

(<l - @ Anslls
5. Asis's iggest airport is being built in which stare? | RSVt
(2) Tamilnadu o) e

yﬂll’r‘dﬂh (d) Haryana

70. 'Covidshield 1s a COVID-19 vaccine developed by ............
(s) Cambridge University (b) ford University
(c) Harvard University (d) Stanford University

71.  Recently a bill to reserve 75% of private-sector jobs for locals has been approved by which

state?
(#) Haryana -~ (b) Rajasthan
{c¢) Uttar Pradesh Jd) Kerala
72.  Fossil Fuels are the examples of ............ resources.
(a) Renewable Resources (b) Scarce Resources
Mﬂ—kmwlble Resources (d) Antificial Resources

S-12/SETB [ 15 ]
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LA ( JALLE Income v a untry 15 cal ulated by 0‘|\."l|l_\' otal incon I 1t
(a)  Total Resources (b)  Total Production
(«)  Total Revenue i (dy  Total Population
e ) Which types of medicines s used for treating indigestion”
() Analgesic medicines (b)  Antiseptic medicines
(¢ Antibiotic medicines (d) Antacid medicines
N—
78 is & Mobile App developed by the National Payments Corporation of lndig
(INPCH
(a) UPI SSF JAMIA MILLIA ISLAMIA by PaylM
) .o '
() Rupay (d) BHIM
S

Read the following poem and answer Q. 76 to (). 80 based on the poem :
With their feet in the carth
And their heads in the sky
I'he tall trees watch
The clowds go by
When the dusk sends quickiy
The binds to rest
The tall trees shelter them
Safe in a nest
And then in the night
With the tall trees peeping
The moon shines down

On a world that's sleeping

S-12 /'SLTB [ 16 ]
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which action of the human beings do the trees not do?

76.
(a) Offer shelter (b) Act as a watchman
' SSF JAMIA MILLIA ISLAMIA
. Where do the birds retire in the evening? . Delhi
(a) On clouds (b) On moon
) In homes
(c ((d)/Dn the trees

-s. Which word would mean the same as, 'look through a narrow opening’?

() Watch yeep

(c) View (d) See

79.  What time of the day does the poet refer to in this stanza?

(a) Afternoon (b) Moming
(c) . Evening (d) Night
7
80. According to the poet what does, ‘And their heads in the sky' mean?
yTw are very tall. (b) Trees are very short.
(¢) Tree symbolizes a human head. (d) Trees have reached a great height.

81. Convert the following direct speech to indirect :
She said, "Alas! | have failed.”
(a) She exclaimed sadly that she failed.
_ib) exclaimed sadly that she had failed.
(c) She exclaimed sadly that | failed.
(d) She exclaimed that she failed.

S-12/ SETB [ 17 )




82.  Conver the following direct speech to indirect :
Vineet said to Nitin, "Go away”
(a) Vineet ordered Nitin to go away
_(b)>"Vineet said Nitin to go away

(¢)  Vineet ordered Nitin go away

Ad)  Vineet said to Nitin go away.
S8F JAMIA MILI.IA. ISLAMIA
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83.  Change the direct speech to indirect
He said to me,, "Where 1s Neha?"
(a) He asked me where is Neha. (b) ¢ asked me where Neha was.

-~

(¢) He asked me where Neha is. (d) He said where was Ncha.

84.  Change the speech for the following statement :
She said. "The man died in the afternoon.”
(a)  She said the man died in the afternoon.
\th said that the man had died in the afternoon.
(¢) She had said the man died in the afternoon.

(d) She said the man was dead in the afternoon.

85.  Convert the following direct speech to indirect -
She said, "My mother is cooking food."

y She said that her mother was cooking food.
(b)  She said that my mother was cooking food.
(¢)  She said that her mother is cooking food.

(d) She said that my mother is cooking food.

S.12 / SET-B [ 18 )



o what |1 s that we to think seriously about a thorough reform in the legal
system

(a) have proposed | should have begun
(b had proposed | were beginning

af6) A proposing / begin
A

(&) proposed ' had begun

g7. When they heard a gunfire across the border, the relief workers in the camp knew that
another group of refugees ... before long.

(a) are amiving (b) had arrived

o

(¢) will amrive (d) would be armving

gs. The Pacific markets ............ extremely competitive since the manufacturing capacity of
many Far Eastern countries ............ to tmprove at the turm of the decade.

(a) are becoming / begins
® had become / would begin

(¢) were becoming / would have begun

\(d/tébeoome / began

89. In the past few months, our company director ... moere mettle than most industrialists
............ in an entire carecr.
V shown / have done (b) showed / would do
(c) shows/did (d) has shown / do

S-12/ SETB { 19 )



90 The orders were that we . _ the ares within hours to prevent further loss of life. 3
(b) _Mxgve o evacuate :

(s) had evacuated
\ i
Jc) will have evacuated (d) had o evacuase

91. Before | got 1o the end of his article, | felt | knew cverything there . about the Nong
Amrnica Free Trade Agreement.
(a) had known Muwkno‘
(¢) is known 'ﬂ) is being known

SSF JAMIA MILLIA ISLAMIA
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92. It scems likely that by the end of the week, the costs involved in the construction of

bridge ........... by the Ministry
(2) would have been announced (b) have been announced :
L/[zr' would be announced _{d) will have been announced ‘
93. Newspapers say the minister ............ someone suitable for the task he ............ to gt hold
of. ‘
(a) is going to appoint / will want (b) appoints / wants
(c) 1s appointing / wanted _Ad) will appoint / wants
94. Myplane......... at five p.m. on Monday. 1 don't need to call a taxi, my friend ............ me o
the airport.
(a) was leaving / has taken (b) is leaving / will take
(c) leaves/is going to take Ml leave / takes
9 .o the holiday enormously even though the weather ............ disappointing.

(3) enjoy / would have been
(b) had enjoyed / has been
(¢) have enjoyed / was being

\(d/)mjoyedfw

S-12/ SET-B
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96. Do you remember when Joseph . from the university and ........ to work as an engineer
in our factory?

_'},Wntduned/huw
(b)  will graduate / will be starting
(¢) graduated / had started
(d) graduated | started

. " '

97.  To which of these types does the following sentence belong?

"Brutus loved Caesar",
\}/Anertivc sentence (b) Interrogative sentence
(c) Imperative sentence (d) Exclamatory sentence

98.  Which of these is not a type of assertive sentence?

(a) Affirmative (d) Informal
(¢) Negative MMC

99. "Do you know where my phone is?" is an example of what kind of sentence?

(a) Declarative (b) Imperative
(c) gative (d) Exclmatory
100. A sentence used to give someone an order or a command is a/an ... sentence.
(a) interrogative (b) 1 ive
(c) exclamative (d) assertive
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